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Booklet A

Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each.

For each guestion, four options are given. One of them is the correct answer.

Make your choice (1, 2, 3 or 4) and shade your answer on the Optical Answer Sheet.
(20 marks)

1. 3 thousands, 57 tens, and 3 ones is

(1) 3080
(2) 3573
(3) 8703°
(4) 35703 i

2. Which of the following is equivalent to 2% ?

7
(1 8
13
(2) Py
17
(3) r
32
(4) Y

3. In 52179, what does the digit 7 stand for?

(1) 7tens
(2) 7ones
(3) 7tenths

(4) 7 hundredihs



4, Which of the following when divided by 6 gives a quotient of 3 and a remainder
of 27

(1) 6

2) 9

(3) 15

(4) 20 : -

5.~ Arrange the following numbers in ascending order.

2.0 2.01 2.21

(1) 201 , 21 , 221
(2) 21 , 201 , 221
(3) 21 , 221 , 2.01
(4) 221, 21 , 201

6. What is the closest estimation of the reading shown?
?
»
l i
K
(1) 4750g
(2) 5225¢g
(3) 5500g
(4) 57509




7. Peter had 15 sweets and 9 chocolates. What fraction of the snacks Peter had are
chocolates?

(M Z
@ <
® 3 -
@ =

8. In the figure below, the length of AD is thrice of AC. Find the area of triangle
BCD.

(1) 16 cm?
(2) 24 cm2
(3) 32cm?
(4) 48 cm?

5w
9, Find the value of —2- —w+2whenw=10.

(1) 13
(2) 17
@3) 21
(4) 22



10.  The figure below shows 2 parallelograms, ABCD and JKLM. Which of the
following statements is true?

B K

/|
N 3, | ]
\

D

(1) Line AB is parallel to line JK.

(2} Line CD is perpendicular to Line JM.

(3) Parallelogram JKLM is also a rectangle.
(4) The angle £ABC is equal to angle £KJM.

11.  How many of the following shapes have at least a line of symmetry?

[/ [\

isosceles parallefogram trapezium
triangle

VR

rhombus

(1)
(2)
3
4

AW N =



12.  The figure below is made up of a large semi-circle and 3 small identical
semi-circles. Given that the length of AB is 12 cm, find the area of the shaded

part in terms of =.

(1) 12n cm?
(2) 18ncm?
(3) 24ncm?
(4) 48ncm? i

13.  The distance between Point A and B is 480 m.
John started cycling from point A to B at an average speed of 3 m/s while
Peter started cycling from point B to A at an average speed of 2 m/s.
How far apart will they be after 40 seconds?

(1) 40m
(2) 80m
(3) 120m
{4) 280m

14.  The figure below shows 10 cubes glued together to form a solid. The entire solid,
including the base, was then painted red. How many cubes have only 3 of the
faces painted?

(1)
(2)
{3)
(4)

PN -




15.  The bar graph below shows the result of 40 students voting for their favourite
type of food, A to E.

14
12
Number
of
students

0
8
6
4 .
-l
0

A

Which pie chart-below best represents the information in the bar graph?

B C D E
Type of food

(1) (3)

o m
w
Q m

(2)

A
C
B
@ A
D

End of Booklet A
6 .
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Booklet B

Questions 16 to 20 carry 1 mark each. Write your answers in the spaces provided.

Do notwrite In
this space

For questions which require units, give your answers in the units stated. (5 marks)

3
16. Express 75 as a decimal.

Ans:

17. Find the value of 2.6 x 40.

Ans:

11
18. EXpress 20 as a percentage.

Ans: % ! :/:3




19. Measure and write down the size of 2u. -

Ans;

20. 3&of water was poured into 4 glasses equally. What is the volume of water in
each glass?

Ans: £

Do not write in
this space




Questions 21 to 30 carry 2 marks each. Show your working clearly and write your
answers in the spaces provided. For questions which require units, give your
answers in the units stated. {20 marks)

21. John received the following test results from the school. What did John get for
his Chinese Language marks if the average marks for all four subjects is 757

Subjects Marks
English Language 68
Mathematics 74
Science 83
Chinese Language ?

Ans:

22. Farhana took 8 minutes to walk home from school, which was 1.2 km away.
What was her average speed?

Ans: m/ min

Do not write in
this space




23. Inthe figure below, not drawn to scale, AD is paralle! to BC. Find 2x. genot:;he in
15 5p
Ans: °
4
24,  MrChua had 36 kg of rice. He wanted to pack them into smaller bags of T kg
each. How many packets of rice will he get?
Ans;
4
4



25. A vase was sold at a 40% discount for $48. What was the original price of the oo notwritein
' this space

vase before the discount?

Ans: §

4 . 2
26. A container completely filled with water weighed 1; kg. After pouring out 3

of the water, it weighed 1kg. What was the mass of the container?

Ans: kg




27. The net of a pyramid drawn below has 2 missing faces. Shade 2 faces to c:notwme in
this space

complete the net of the pyramid.

28. The figure 'below shows a semi-circle overlapping with a quadrant.

22
Find the perimeter of the shaded part. (Take = = 3 )

Ans: cm




1
29. Charmaine read 30 pages on Monday and > of the remaining book on

Tuesday. She was then left with 20% of the book unread. How many pages
does the book have?

Ans:

-30. The figure below, not drawn to scale,_shows a semi-circle with centre O
and straight lines AD, OB and CD.

Each of the statements below is either true, false or not possible to teli from the

information given. For each statement, put a tick . [0 indicate your answer.

Statement

True

False

Not
possible to
tell

a) 20OAB is equal o 2OBA.

triangle,

b) Triangle OAB is an equilateral

Do not write in
this space

End of Booklet B
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Questions 1 to 5 carry 2 marks each. Show your working clearly and write your Do not write in
answers in the spaces provided. For questions which require units, give your this space
answers in the units stated. (10 marks)

1
1. A crate contains apples, oranges and pears. > of the fruits are pears. The

ratio of the number of apples to oranges is 3 : 4 . What is the ratio of the
number of pears to the number of oranges?

Ans:

2. The exchange rate for Singapore doliar (SGD) to Malaysia ringgit (MYR) is
10 SGD = 32.35 MYR. How much MYR will | get if | exchange 220 SGD?

Ans: MYR _
3. The figure below, not drawn to scale, shows a square in a right-angle
triangle. Find the area of the shaded part.
Ans: cm?




4. Water was flowing out from a leaking tap at a rate of 270mi per minute,
filling up the container shown below. It took 27 minutes for the container
to be completely filled with water. What is the height of the container?

) M
1
1
1
1
: ?
¥
]
i
1
R AN v
ol 12 cm
27 cm
Ans: cm [2]
5.  Triangle ABC is drawn on the square grid as shown below.

By joining dots on the grid with straight lines,

(a) draw and label a trapezium CABF such that the Iength of BF is half of AC.

(b) draw and label Triangle ABD such that its area is half of Triangie ABC.
Triangle ABD must not overlap with trapezium CABF.

- L] L J - L] * L J L] [ ] L]
[ 2 » L J - L] L] L [ ] L ] -
[ ] L J L] [ ] L J [ ] - - ] L]

Do not write'in
this space




For questions 6 to 17, show your working clearly and write your answers in the
spaces provided. The number of marks available is shown in brackets [ latthe
end of each question or part-question. (45 marks)

6. Helen is (y + 8) years old now. She is 3 years older than Bonny.
(a) What will be their total age in 2 years’ time in terms of y?

Ans: (a)

(b) if y = 5, find their total age in 2 years' time,

Ans: (b)

(2]

|

Do not write in
this space




7.

The bar graph below shows the number of cakes a bakery sold from January
to March.

(a) The number of cakes sold in March was 15% of the total number of cakes
sold from January to April.

What was the total number of cakes sold from January to April?
25

20 - ;
W
2 | !
0 ¥
815 | —
O r +
3 —
£ 10 - ' :
=]
Zz :
5 - l
; 1
[ 1
3 ]
0 : p 1 1
Jan Mar Apr
Ans: (a) 2]

(b) Draw and shade the bar representing the number of cakes sold in April
above. {1l

Do not write in
this space




In the figure below, not drawn to scale, ABCD is a square with a length of

Do not write in
14 cm. . this space
Given that BCF is a straight line, and the area of triangle AED is 36.75 cm?,
find the area of triangle EFD.
B ; C F
I T
14cm + E
v A ] D
Ans: 3]
3




9.

In the figure below, not drawn to scale, ABCD is a rectangle. EF is parallel to

BD and AD = DG.

B

[11

[2]

A F
<N42° —
K
110 3
g
E' )
. D G
(a) Find £AFE. '
Ans: (a)
(b) Find 2BKC.
Ans: (b)_

Do not write in
this space




10.

The cost of an adult ticket to a concert was $68.80. The cost of a child ticket
was $32.80. The total amount of money collected from ticket sales was

$28 100 for a capacity of 500 people. How many adults attended the
concert?

Ans: [4]

Do not write in
this space




11. A baker had a 50-kg sack of flour at first. The graph shows the amount of Do not writé in

flour left at the end of each day for 5 days. this space
: 50
2 o
. 40 S :
_G'C)/"u i H e :
) : —Se— :
S e ; S
5= i : N :
50 H : \ :
25 : T N -
= @ = : N g
2 20 : : N f
2 4 : 1 e
:‘% : ' : SN .

10 E E : : —e—— |

Day 1 Day 2 Day 3 _ Day 4 Day §

{a) Which day did the baker use the greatest amount of flour?

Ans: (a) {1]

(b) What percentage of the 50-kg sack of flour was used by day 57

Ans: (b) [2]




12. In the figure below, ABCD is a square. ADF is an equilateral triangle Do ot write in
this space
and DECF is a trapezium. DE // FC, «DEC = 50° .
(a) Find £B6F <DCE A . B
} ,
(b) Find ZBFC - /
e
. \ 4
D y ¢
50°
E
Ans:(a) ___ [2]
(b) [2]
4




2 .
13. Fred, Gerald and Harry shared $123 altogether. At a oy shop, Fred spent = of e

3 ‘ 2
his money, Gerald spent 2 of his money and Harry spent 3 of his money.

Fred and Gerald spent the same amount of money and Harry spent twice of
what Fred spent. Find the amount of money Gerald had at first.

Ans.- [4] |
4

10



1 .
14.  Mdm Pang baked some cookies. She gave 5 of it to her relatives and gave ket

1
80 cookies to her friends. She was left with — of it.
(@) How many cookies had Mdm Pang left?

Ans: (a) [3]

(b) Mdm Pang packed the leftover cookies into 10 small and large bags. The
number of cookies in each large bag is twice the number of cookies in each
small bag. How many large bags of cookies were there?

Ans:(b) _____ _  [7]

11



15. Celine took a square piece of paper and cut along the dotted line shown

below. As a result, she got a small square of area 49 cm? and 8 identical
right-angled triangles. Triangle EFG is one such right-angled triangles.

g
- 1
PRy A Y
- 1 A Y
- i
- Y
-
- ] Y
PN o
\ ! 1 v
\ i 1 A
b 1 1 A
\ 1 ' A
LY 1 1 A
\ s 1 A
b L 1 ‘C
____________
Y 1 ’f'P
A t -
* -’
! -
[ -
-
ML
-

{a) Find the area of the square ABCD.

Ans: {a)

1]

(b) Find the length of FG.

Ans: (b)

[4]

12

Do not write in
this space




16. There were 75 more children than adults at a funfair on Saturday. On Sunday, | oo not witein
the number of children increased by 24% while the number of adults this space
decreased by 15%. There were 2810 people on Sunday. How many people
were there at the funfair on Saturday?

Ans: [4]
e

13



17. The Idiagram below shows figures made up of dots and lines.

Do not write'in

this space
N
Figure 1 Figure 2 Figure 3 Figure 4
(a) Complete the table below.
Figure No. | Number of dots Number of lines

1 2 1

2 6 7

3 12 17

4 20 3

5

[2]
(b) Which figure no. will it be where there are 156 dots?
Ans: (b) [2]
End of Paper 2
~ Please check your work thoroughly. ~ 4

14
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